1-1-notes.notebook January 31, 2017

1. + =M1 points LarTrigd 1.1.001.

Fill in the blank.

Two angles that have the sgme initial and terminal sides are .

/- 04- . l
COToA/M NG,

Fill in the blank.

One is the measure of a central angle that intercepts an arc equal in length to the radius of the circle.

radian | @2 2R

rad\us

2, + =M points LarTrigd 1.1.002.

3. + —[2 points LarTrig9 1.1.003.

Fill in the blanks.

Two positive)angles that have a sum of m’z are Select v amg\as whereas two positive angles that have a sum of 7 are angles.

Su '-c }
Comple men-l-ary \ pplement ary
7 L

‘ 4, + -1 points LarTrig9 1.1.004.

Fill in the blank.

] The angle measure that is equivalent to a rotation of 3—;0 of a complete revolution about an angle's vertex is one .

dejree,

5.+ —izpoints LarTrigd 1.1.005.

Fill in the blanks.

The speed of a particle is the ratio of the arc length to the time traveled, and the speed of a particle is the ratio of the central angle to the time traveled.

S Linear 4” © - Ou-,ugaa

-z: > d L 4 speed.
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s anc.

[ B. + — points LarTrig® 1.1.008.

Fill in the Blank.

The area A of a sector of a circle with radius r and central angle &, where £ is measured in radians, is given by the formula

OA=%nr29 A_: lc,be

OA=r29

O a=-2e 9_7.11' qﬂwQJ MOOMQ’ SO
OA=Trr2 1, ‘(\wm F'{‘—

OA=%nr2 Anvax
2() --'Wf
Jprey

Am

Aug 23-10:53 AM




1-1-notes.notebook

January 31, 2017

7.  + —1points LarTrig® 1.1.007. 8+ —/1 points LarTrig® 1.1.008.
Estimate the angle to the nearest one-half radian. Estimate the angle to the nearest ocne-half radian.
[ radians J

| rad ) 5 va
o =
/x S l e
9.  + —i1 points LarTrigd 1.1.010.
Estimate the angle to the nearest ane-half radian.
[ 10.  + —/2 points LarTrig® 1.1.011.
.] Determine the quadrant in which each angle lies. (The angle measure iz given in radians.)
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{ 12. + —I2 points LarTrigd 1.1.013.

Sketch each angle in standard position.

4
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13.  + —/2 points LarTrigd 1.1.014. &
(X/\B’m
Sketch each angle in standard position.
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15. + —id points LarTrig® 1.1.017.

14. 4+ —i2 points LarTrig2 1.1.018.
Determine two coterminal angles (one positive and one negative) for each angle.
(a) 56ﬂ Give your answers j dians. (Enter your anfwers as a comnja-separated list.)
1N
oy arl o 2 |
% G b
&
Qe \
) -ZZ 76

7

> 49

Find {if possible) the complement and the supplement of each gnale. (If not possible, enter IMPOSSIBLE.)
W
@ = >7Y
4

a1l .
complement q radians
supplement %r radians
T—T“3T
MUY
® I g g
3 23 z
complement g radians
@
2T .
supplement = radians

+ —i4 points LarTrig® 1.1.018.MI1.

(@) =

10

complement radians

supplement

radians )(

W\:P\z""‘e\(\
Co
b)) 2T = ot
10
complement Qv\paéj/:l))e radians
| J— .
supplement o radians

Find {if possible) the complement and the supplement of each angle. (If not

poszible, enter IMPOSSIBLE.)
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17. + —i4 points LarTrig2 1.1.012.

Find {if possible) the complement and the supplement of each angle.

(@ 1 (Round your answers to two decimal places. If not possible, enter IMFOSSIELE.)
complement 5T radians
supplement 2.+ radians

(b) 2 \&’

complement

radians

-0

supplement 1 141

59265636897932384626433832795028841971693993751058

18. + —id points LarTrig® 1.1.020.

(a) 3

complement
(b) 1.5

complement O0F
supplement .G \-(

Find (if pos=ible) the complement and supplement of each angle. (Round vour answers to two decimal places. If not possible, enter IMPOSSIBLE.

radians
radians
radians
3N
radians - 150
wE
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+ —1 points LarTrig® 1.1.021.
Estimate the number of degrees in the angle.

18,

Wiy

[ T‘W{mep%?
20

21.  + —1 points LarTrig? 1.1.023.
Estimate the number of degrees in the angle.
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22, + =i points LarTrig? 1.1.043.

Convert the angle measure from radians to degrees. Round to three decimal places.

S

ud
_"'9'\ U (a v 397
>(1’m(\ a8l _\/% gqo)/,soo >‘ n 8ot
180

23. + =1 points LarTrig2 1.1.042. /

Convert the angle measure from degrees to radians. d to three decimal places.
za0e

24, * —i1 points LarTrigd 1.1.5802 XF.

A sprinkler on a golf green is set to spray water over a distance of 10 meters and to rotate through an angle of 140°.

Draw a diagram that shows the region that can be irrigated with the sprinkler. Find the area of the region.

(Round yvour answer to two decimal places.) I
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[ 25 +* —i3 points LarTrig® 1.1.501 XP.

A twa-inch-diameter pulley on an electric motor that runs at 1700 revolutions per minute is connected by a belt to a four-inch-diameter pulley on a saw arbor.
(a) Find the angular speed (in radians per minute) of each pulley.
e U
130 ° qﬂﬂ -
motor pulley |:|radian5 per minute / oh Sk p
) paTS

radians per minute

saw arbor
('\ \\

(k) Find the refolutions per minute of the saw. e

revolutions per minute
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Here's an old way | worked this. See next page for what | did, more recently.

+ —i6 points LarTrig? 1.1.088.

The radii of the pedal sprocket, the wheel sprocket, and the wheel of the bicycle in the

figure are 4 inches, 2 inches, and 14 inches, respectively. A cyclist is pedaling at  rate of 1 revolution per second.
Fev per wminuke o 0(/147-4,001/) cperd Ho
) lnear g,wJ o chain +o Mﬁ%ﬂ@ SWC/
o of v sprocket Fo Lsw sperd of
= 4in. o avan \A)L\M,O 4

vad=

N . "
(a) Find the speed of the bicycle in feet per second and miles per hour ( | (;2;‘7—2& (\J " - s 1) E‘_ Q’DW4LQ_L
) g ro<™" '
I:l feet per zecond Sec \}( . se

[ 0 S 075 e b
2Liv

(b) Use your result from part (a) to write a function for the distance d (in miles) a cyclist travels in terms of the number 1 of revolutions of the pedal sprocket.
d= mi . 20 ved _1 25
[ 1] Finatiy <«;/ W) = 20
S S

(c) Write a function for the distance d (in miles) a cyclist travels in terms of the time ¢ (in seconds)
VL ( 1t
p—— —,
5 2"
; 238

Compare this function with the function from part (b). 5/0_ - =
3

The function from (b) is . - G
The function from (c) is .

d

A=Y o

g7 ored
S
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+ —I6 points LarTrigd 1.1.088.

The radii of the pedal sprocket, the wheel sprocket, and the wheel of the bicycle in the

——————— figure are 4 inches, 2 inches, and 14 inches, respectively. A cyclist is pedaling at a rate of 1 revolution per second.

Cao{ J’L\L? ‘5 anc /Q/\jﬂ ‘s Mopo‘)#‘o-u\p
o pedivs . TUs vvans Hru /)m[w F Wl
= 4in. F ?quck«"‘f Feoan wen s /‘-/Q,é& Ok

(a) Find the speed of the bicycle in feet per second and miles per hour

I:lfeetpersecond fro'\‘(’f l—% 27 RIM ; —i -7 '/-,‘m\ﬂs .[;g!éaq
2
[ e Gabed by b

(b) Use your result from part (a) to write a function for the distance d (in miles) a cyclist travels in terms of the number n of revolutions of the pedal sprocket.

d= mi S _ \/6
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27. + -2 points LarTrig@1.1.086.MI. /\/—*; = LQ,—P{

A car is moving at a rate of 55 miles per hour, and the\diameter 4f its wheels is 2.4 feet. (Round your answers to three decimal places.)

(a) Find the number of reveolutions per minute the wheels are rotating. N
) . S SS e
lutions per minute

_ = —

( [/ﬁV’
(b) Find the ang eed of the wheels in radians per minute. §780’p+
T 32
radians per ute Q+ l h,\\
[ hr ' 3 :
Y033 333
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28. + -/ points LarTrig® 1.1.055.

_ (590 6280) o gyras

Uze the given arc length and radius to find the angle & (in radians). ( \ q,\ (ﬁ}(lp\

B=|:|radians .
@ e 4o Sodioms via 3T
(gs\(saeo) >/?"“{ =‘io??,+-"

VoTS’s
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=

r&

"
)

29. + —M points LarTrigd 1.1.054.

Find the radian measure of the central angle of a circle of radius r that intercepts an arc of length =.
Radius r Arc Length s

11 feet 3 feet

30. + —/1 points LarTrig® 1.1.053.MI.

Find the radian measure of the central angle of a circle of radius r that intercepts an arc of length s.
Radius r Arc Length s

40 kilometers 85 kilometers

Aug 23-11:28 AM
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Find the radian measure of the central angle of a circle of radius r that intercepts an arc of length =.

Radius r Arc Length s

40 kilometers 25 kilometers

Find the length of the arc on a circle of radius r intercepted by a central angle &. (Round your answer to two decimal places.)

Radius r Central Angle &

9 meters 150°

Find the length of the arc on a circle of radius r intercepted by a central angle #. (Round your answer to two decimal places.)

Radius r Central Angle &

17 inches 240%

Convert the angle measure from radians to degrees. Round to three decimal places.

—3.67

Convert the angle measure from radians to degrees. Round to three decimal places.

17m/8

Convert the angle measure from degrees to radians. Round to three decimal places.

0.7g°
1

Rewrite each angle in degree measure. (Do not use a calculator)

_um
(a) 2

7T
(b) -

Aug 23-11:39 AM
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(a)

Rewrite each angle in degree measure. (Do not use a calculator.)

3T
(a) -
7
(b) -

Rewrite each angle in radian measure as a multiple of 7. (Do not use a calculator)

_BDD

radians

(b)

Fze

radians

(a)

Rewrite each angle in radian measure as a multiple of m. (Do not use a calculator)

60°

radians

(b

—20°

radians
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